

$$1 \cos 2\pi = \frac{1}{\cos^2 \pi} \leadsto 1 \cos^2 2\pi = \cos 2\pi = \frac{1}{4}$$

در $[0, 2\pi]$ - جواب

۱

$$\omega s^2 \rightarrow \omega - \omega c^2$$

$$P \cos 2\pi = P(c^2 - s^2) = 1c^2 - 4c \quad \rightarrow \quad 1c^2 - 4c - 4 = 0$$

$$(c+1)(c-5) = 0 \quad \Delta = 149 - 4 \cdot 4 = 149$$

جواب دیند. $c = -1$ و $c = 5$

توباره $[0, 2\pi]$ - جواب برلر -2π و 2π

۲

$$s^2 (P \cos 2\pi + 1) = s^2 (1 - s^2) \rightarrow s^2 - s^4 + 1 = 0$$

$$P(1 - s^2)$$

$$(s+1)(s^2 - s + 1)$$

$$(s-1)^2$$

$$\frac{\omega}{4} \cdot \frac{2}{3} \leftarrow \frac{\omega}{4} \cdot \frac{2}{3}$$

$$s = -1$$

$$\frac{1}{4}$$

۳

$$\frac{1}{\sin(\frac{2\pi}{3} + \pi)} + \frac{1}{\cos(\frac{2\pi}{3} + \pi)} = \frac{1}{\cos 2\pi} - \frac{1}{\sin 2\pi} = 0 \rightarrow \sin 2\pi - \cos 2\pi = 0$$

$$\sin 2\pi - \cos 2\pi = 0 \rightarrow \sin 2\pi = \cos 2\pi$$

تولید $\sin 2\pi$ و $\cos 2\pi$ معنی سوار $\sin 2\pi = \frac{1}{2}$ و $\cos 2\pi = \frac{\sqrt{3}}{2}$

اضاف $\alpha = \frac{2\pi}{3}$ $\sin \alpha = \frac{1}{2}$ و $\cos \alpha = \frac{\sqrt{3}}{2}$

۴

$$\cos(\pi + \frac{2\pi}{3}) = \frac{\sqrt{3}}{2} (\cos 2\pi - \sin 2\pi) = \frac{1}{\sqrt{3}} \rightarrow \cos 2\pi - \sin 2\pi = \frac{\sqrt{3}}{2}$$

$$\frac{\sqrt{3}}{2} \cos 2\pi - \sin 2\pi = \frac{\sqrt{3}}{2}$$

تولید $\sin 2\pi$

۵

$$\frac{\sqrt{3}}{2} m - \sqrt{3} = \sqrt{3} \rightarrow m = 4$$

$$\sin 2\pi = \frac{1}{2}$$

$$\frac{\pi}{4} - n = \frac{\pi}{4} - (n + \frac{\pi}{4}) \quad \cos(\frac{\pi}{4} - n) = \cos(\frac{\pi}{4} - n)$$

$$s(\frac{\pi}{4} - n) = 1 \quad \left[\begin{array}{l} s(\frac{\pi}{4} - n) = 1 \quad \frac{\cos \pi}{4} \rightarrow \frac{\pi}{4} = \frac{\pi}{4} - n + \frac{\pi}{4} - n \\ s(\frac{\pi}{4} - n) = 1 \quad \sim \frac{\pi}{4} = (n+1)\frac{\pi}{4} - n = \frac{\pi}{4} + \frac{\pi}{4} \end{array} \right]$$

$$-1 \quad \checkmark$$

$\mu_j \omega - s^{\mu} + \mu_c^{\mu} + \mu \sqrt{\mu} SC = N \rightarrow PC^{\mu} + \mu \sqrt{\mu} SC = 1 - C^{\mu} \mu \sqrt{\mu} CS = S^{\mu}$

$\Rightarrow \sqrt{\mu} S_{\mu n} = \cos \mu_n \rightarrow \cot \mu_2 = \sqrt{\mu} - \mu_2 R R - \frac{R}{q} \rightarrow \mu_2 R R - \frac{R}{q} \rightarrow \mu_2 R R - \frac{R}{q}$

$RSP = R - \frac{R}{q} \quad R = 1 - \frac{R}{q} - \frac{R}{q}$

$R = \mu - \mu_2 - \frac{R}{q} - \frac{R}{q} \quad R = 0 = -\frac{R}{q} - \frac{R}{q}$

$R = F = R - \frac{R}{q} \quad R = 1 = \frac{R}{q} - \frac{R}{q}$

FR: $y_{gen} =$

VVD

$\sin(\pi/2 - \alpha) = \cos \alpha \quad -f_{sc} = 1 \rightarrow -f_{sp} = 1 \rightarrow -\sin \alpha = \frac{1}{\sqrt{2}}$
 $\mu_n \rightarrow \mu_n \omega - \frac{\omega}{2} \rightarrow \omega \mu_n - \frac{\omega}{2} \rightarrow \omega \mu_n / \omega - \frac{\omega}{2} / \omega$
 $\hookrightarrow \mu_n \omega + \omega + \frac{\omega}{2} \rightarrow \omega \mu_n + \frac{3\omega}{2} \rightarrow \frac{\omega}{2} / \omega + \frac{3\omega}{2} / \omega$

$$(\cos^2 \alpha) (\cos^2 \beta) (\cos^2 \gamma) = \frac{1}{\lambda} \rightarrow \cos^2 \alpha (\cos^2 \beta) (\cos^2 \gamma) = \frac{1}{4k}$$

$$\tan(x) \tan(y) = 1 \rightarrow \cot(x) \tan(y) = 1 \rightarrow \tan\left(\frac{\pi}{2} - x\right) = \tan(y)$$

$$\frac{R}{\lambda} - n_s R + \frac{R}{\lambda} \rightarrow R = \frac{R}{\lambda} - R \rightarrow n_s = \frac{R}{\lambda} - \frac{R}{\lambda}$$

⑦ عبارت $\frac{1}{r}$ از ضرب می‌گیریم.

$$\frac{1}{r} \sin u + \frac{\sqrt{r}}{r} \cos u = \frac{\sqrt{r}}{r}$$

$$\cos 45^\circ \sin u + \sin 45^\circ \cos u = \sqrt{\frac{r}{r}} \rightarrow \sin(u + \frac{\pi}{4}) = \sqrt{\frac{r}{r}}$$

$$u + \frac{\pi}{4} = 2k\pi + \frac{\pi}{2} \rightarrow u = 2k\pi - \frac{\pi}{4} \xrightarrow{-\pi \leq u < \pi} k=0,1 \rightarrow u = -\frac{\pi}{4}, \frac{7\pi}{4}$$

$$u + \frac{\pi}{4} = 2k\pi + \frac{3\pi}{2} \rightarrow u = 2k\pi + \frac{5\pi}{4} \xrightarrow{-\pi \leq u < \pi} k=0 \rightarrow u = \frac{5\pi}{4}$$

$$S = \frac{7\pi}{4} - \frac{\pi}{4} + \frac{5\pi}{4} = \frac{11\pi}{4} = \boxed{\frac{9\pi}{4}}$$

$$1 + \cos 2x = 2 \cos^2 x$$

$$\int 1 + \cos 2x = 2 \cos^2 x$$

$$\left\{ \begin{array}{l} 1 + \cos 2x = 2 \cos^2 x \\ 1 + \cos 4x = 2 \cos^2 2x \end{array} \right\} \rightarrow \wedge \cos^2 x \cos^2 2x \cos^2 4x = \frac{1}{8}$$

$$\cos^2 x \cos^2 2x \cos^2 4x = \frac{1}{8} \xrightarrow{\sqrt{\quad}} \cos x \cos 2x \cos 4x = \pm \frac{1}{8} \xrightarrow{\begin{smallmatrix} \times \sin x \\ \sin x \neq 0 \end{smallmatrix}} \star$$

$$\underbrace{(\sin x \cos x)}_{\sin 2x} \cos 2x \cos 4x = \pm \frac{\sin x}{8} \rightarrow \frac{1}{8} (\sin 2x \cos 2x) \cos 4x = \pm \frac{\sin x}{8} \xrightarrow{\frac{1}{8} \sin 2x}$$

$$\frac{1}{8} \times \frac{1}{8} (\sin 4x \cos 4x) = \pm \frac{\sin x}{8} \rightarrow \frac{1}{8} \sin 8x = \pm \frac{\sin x}{8}$$

$$\sin 8x = \pm \sin x \rightarrow \int 8x = 2k\pi + x \leq 2k\pi + \pi - x$$

$$\left\{ \begin{array}{l} 8x = 2k\pi - x \leq 2k\pi + \pi + x \end{array} \right.$$

$$x = \frac{2k\pi}{9} \xrightarrow{MA \wedge A} k=3 \rightarrow x = \frac{4\pi}{3}$$

$$x = \frac{2k\pi}{9} \xrightarrow{MA \wedge A} k=5 \rightarrow x = \frac{10\pi}{9}$$

$$x = \frac{(2k+1)\pi}{9} \xrightarrow{MA \wedge A} k=2 \rightarrow x = \frac{5\pi}{9}$$

$$x = \frac{(2k+1)\pi}{9} \xrightarrow{MA \wedge A} k=4 \rightarrow x = \frac{9\pi}{9}$$

$$\rightarrow \boxed{MA \wedge A = \frac{10\pi}{9}}$$

★ A نمی‌تواند برابر خود π باشد چون طبق $\star \sin x$ اصفاف صفر در نقطه π می‌باشد!